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1. Give

very short answer Ao 1o aodilx] 2212
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(@) Which of the following statements is correct ?

(b)
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() Induction is coﬁcemed only with formal truth.
o (TSNS FOOR 11 s |

(i Induction is a proces.slbrf genefalisati_on.
S TR G Ao geitef

(ii) The conélusion of an induction follows necessarily from its

prermses,,_‘_ aspiy o™
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In which of the following kinds of induction, there is inductive

leap ?

Feare o e @R SssmeRs Glst Al e

() Perfect induction
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@ Analogy
AT S
(iii Colligation of facts
| ToA1 TS
(iv) Induction by parity of reasoning
& AP
(c) “All men are religious.” — Is this- prdposi'tion analytic or
synthetic ? '
SRR TR T A 7 — 7 T Rosee o7 e 2

(d) “Cause and effect are events in time.” —Is it a quantitative mark

of causation ?

‘quaﬁmm S S SRR 1ol 17 — 3! TR ARATS
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(e} Which of the following statements is correct‘?

e (TG e o5 ?

() Experiment is finding a fact and observation is making one.

AT, (20E oI SRS o R (R SoAR B
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(iii) In an cxperiment, one cannot pass from the cffcct to the

causc.

' A P R w99 Wl [T o= "

(/1 Fill in the blank :
el HNE 77 <1 8

Mill’s péradox of induction is said to commit the fallacy of

(@) Which of the following is correct ?
Fiste @R ug o

(@  Direct verification of a hypothesis can be done by obscrvation

only.

(e R @RI @I =91 eieps STepislg e o) |
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(i) Direct verification of a hypothesis can be done by observation

or cxperiment.
(PG 2P Lo Ao [T A2 2o @it R AR |

(i) Direct verification of a hypothesis can be done by expérirnent
only. |

e AT RIAICE (RG] e Sfor STopo 319 AR |

() Does the method of residues require previous knowledge of the

cause or effcct for its application ?

ARCE YT AT A I A PR ST &R T (H 2

() Name the experimental method which is based on the following

canon :

“Nothing is the cause of a phenomenon which is known to be the

cause of a different phenomenon.”
RS JA0R 7T 2fSHo AT deTieoR I & e
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(k)

“The method of agreement is a method: of experiment and the

method of difference is a method of obscrvation.” — Is it correct ?

S 2R o e T YRR ) e, s
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Who did introduce the “theory of pre-established harmony” ?

“oFEIHS e Team” (theory of pre-established harmony) (51 @it
STIo1ApIRR 2 | :

Who is regarded as the'fathér of modern philosophy ?

S R e 3 i ot e

Siate any two similarities between scientific induction and unsciehtific
induction. | ‘ 2
tamﬁaswmmw?awﬁzﬁwmmw IR w751 AP Trerd I |

3. Define analogy with suitable example. - 1+1=2

T mewwﬂa@rﬁw
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Define efficient cause with an example. . . g L1 1=2

Trizgez [Wive SRR A 3|

Briefly explain positive condition with the help of a suitable example.

toideinilo

2

Tolge SHIEIR TTRTS ST Al LS SHDIRO [T 5 Gil Seiesi |
or / 7Z=t

Briefly explain negative condition with the help of a suitable example. .

2

T TR RS 2ifege A A AP RCH b, T S

What is a crucial instance ? 2

5% e 1 Ffias yBie s (e

Briefly explain any one condition of a valid hypothesis with the help

of a suitable example. | _ 2

TG ST RS TN AT RPIA G5 5. 5T I 4 |
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8. What do you mean by analogical hypothésis ?
AP 255 e 76 ge

9. Why are the inductive m_éthods called “Methods of elimination” ?

SIS Mo fores [y “wsvmay Fafo” @ e

10. What do you mean by realism ?

MR e [ e e

11. State two points of difference between realism and idealism.

BT e ©IRAE TS 4 757 2N B 3911

12. EpraJn the etymological niéaning of the word ‘Dharma’.

ol *BR FPefeors w2 g Sl

26T LOPH [8]




13.
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Mention two. points of diffe_rence between religion and morality. 2
o W% e Aere I 757 AL S 71|
Or / 7!

Mention any two characteristics of religion. 2

¥(8 Ricpicar 7o) (@8 T < |

State two similarities and two dissimilarities between analogy and

scientific induction. 2+2=4

‘WWWWWWWWEW TP SR 75 P Seed

90

Briefly explain, with example, any two rules on which the value or

strength of an:analogy depénds. A . 242=4 .

TR GRS W 4 |
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16. Explain ;with ¢xample the 'quantitative | mark : of cause from the
standpoint of the law of the conservation of matter and energy.

4
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Explain the relation between cause and condition with the help of

suitable example. 4

%ﬁg@%mvaqawﬁwqm%mww%wmwn

17. State two advantages of experiment over observation and two

advantages of observation over experiment. . . . 2+2=4

ﬁéﬂwﬁwﬁwﬁqﬁmmmﬁwﬁ%ﬁ% zﬁraﬁm%zm
41 |

- y T f { T v . i e r | f !

- 18.- Distinguish between hypothesis concerning ‘agent ' and ! hypothesis

concernmg law W1th the help of su1table example. 4

| %ﬁQ@fwmgmawmwaarwawaﬁmi%vmfﬁ$§@%&ﬁﬁmﬁ%mmfa¢aaﬂmr‘wﬂ%r
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Driefly explain' the four stages of a hypc.)thesis‘. 4

=51 TS 590! BACE IR |

Or./ ¥23!
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Staté four uses of hypothesis. . - 4

WWWW%W!

20. State two advantages and two disadvantages of the method of

agreement. 2+42=4

SEA AR 7o) HRd SR 757 SeRd Trmd /11|
or / ¥

State two advantages and two disadvantages of the joint method of

agreement and difference. 2+2=4

i SE-UroES! AT 76 R =i z&rwaf%m%@wwu
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21.

22.

23.

Briefly express four points of criticism Ja.gain_st naive realism. .

)

4
ST UGN R 515 A 5T 20t 31 |
Or / 7zt ‘
Briefly express four points of criticism against scientific realism.
4

Reers e Reca 5175 WWWW1

State any jfour points of difference between primary qualities, and
sccondary qualities. ' | 4

T @ @R M @R TGS A Fee! 515 A<y o <1 |

Briefly discuss the nature of ethics. 4

TfeRWT eFlS a1 Fhol T=[F ST B 1 |
Or / 70‘3?7’ -
Briefly discuss the scope of ethics. ' 4

AfeRmR AR =i ST S 5 |
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- Why is the method of concomitant variation considered as a modified

version of the method of agrcement and the method of difference ?
Explain. - ' 3+3=6

(RS 2 e STER 2l o R AR RS e I o
¥ ? I 9

Oor / 723

Define the joint method of agreement and difference in your own
words and give a concrete example of it. Why do some logicians regard
this method as “the method of double agreement” or “the double
method of agreement”.?' Explain. _ 2+2+2=6

mmﬁmwﬁamﬁw%@&ﬁﬁw@ﬁmwﬁm@mﬂw
iz | e SHRm @B dAeioR [ 0o SEdl e’ A1 o (7o
Adfiet)” {%ﬁmwwmmwl

What is Berkeley’s subjective idealism ? Briefly express four points of
criticism against this type of idealism. 2+4=6

TR Y SRR 2 @ PR ORAM Rerm BRI SIfRG! ANTEAGA TP
2/t 35 |

or / 23

Critically discuss objective idealism of Hegel. 6

o Y SN AAEBIIR 11 SR |
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26. Does the end Justify the means 2 Give a reasoned analysis with the

help of concrete examples.

TG A OR Al T IR AT 2 Goigw T UL SRS @Bt Ifegef
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Briefly explain any three purusarthas. " 2x3=6

Riceicr R i< Rata 53 i steesia |

27. Explain the nature of religion. ‘ 6

T A4S A T AW it w4 |
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Critically explain any one of the following views :

SEG TR o[ Rl @51 R SIEeI il SeRee |

[ Religion is the source of morality.

ﬁmm%&m

(i) Morality is the source of religion.

sl Tarm 4 T |
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